
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

 

Match. 

 

 

 

                             

Ring   We can wear these when it’s sunny 1 

Suit   She can wear one on her finger 2 

Sunglasses   He can wear this to the office 3 

Necklace   She can wear one on her neck 4 

SG2       

 

choose the correct answer: 

enough )big. –to  –his jacket is ( too T-1 

mine). –my  –(me  I buy a new bag . This bag is-2 

to). -ones-Do you want a big dog or small (one-3 

him) bike -his – his is ( heT bike.Omar has a -4 

borrows) your laptop? -borrowing – (borrowCan I -5 

watched) T.V. –watch  –Ali might (watching -6 

 

 

 

 

 

 

 

 

 

 

 

 

Do as shown between brackets. 

correct )  (A. 

is hers…………………. onesWhich sweater is hers? The red -1 

hot……………. to he coffee isT-2 

(reorder)B. 

1-use \ May \ phone \ I \ your? 

…………………………………………………………………………….. 

2-I \ have \ Can \ cookies\ some \ ? 

………………………………………..……………………..…………….. 

complete )C.(  

1- this is her book. this book is …………  

………..house is new. The house is theirs .-2 
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It's a bargain!  

……………………….. ……………………….. ……………………….. ……………………….. 

Write the correct word under each picture 

Belt        umbrella          scarf         earrings  


